Extra Practice: Equivalent Fractions, Equivalent Name:

Expressions, and Models
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2. Write an expression that can be used to solve the expression "6 fourths minus 11 twentieths"?
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3. Cameron rode her bike for 3 fifths mile and ran for 2 thirds mile. Write an equation to find out how far she went altogether.
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4. Write an expression to match each of the following models.
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5. Canden is working on a science experiment. He needs 2 eighths cup of vinegar and 3 fifths cups of water to complete his experiment.
swes Write an expression that can be used to find the amount of vinegar and water Canden needs?
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6. Dr«.aw jogs 2 th::rds mile on Saturday and 1 half mile on Sunday. Zeina jogs 3 fourths mile on Saturday and 1 and a half miles on Sunda
on that shows a correct way to find  how many more miles Zeina jogs than Drew? !
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40. Preston needs to add 4 thirds and 2 sixths and he knows that he needs to find equivalent fractions to correctly find the sum
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11. Writean expression to match the model below:
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12. Write an expression to match the model below:
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13. Write an expression to match the model below: \
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14. Writean expression to match the model below:

SNF.1




